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To organize discussion method in teaching effectively, which of the following conditions
should be met?

(a) Topic be easy

(b) Topic be declared in advance

(c) Topic of common interest

(dy Avallahility of more than one teacher

(e) Language facility of participants

Select appropriate answer from the options given below :

1 ), ) and (e) (2) (a), (b)and ()
@) (@), ®)and () @) (o), () and (e)
Options:

645350103939, 1
E4EZ50103340. 2
E4E3501033941. =
645350103542 4
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645350103935, 1
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Who developed the theory of ‘Multiple Intelligence’?

(1) Alfred Binet (2) L. Thurstone
(3) Charles Spearman (4) Howard Gardner
Options:

645350103943 1
645350103944 2
E4E350103345. 2
EAEZ50103946. 4
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Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 WrongMarks: 0

From the list of the effective teaching behaviours, identify those which are called key
behaviours.

1) Direct, audible and oral delivery to all students

(i1) Encouraging students to elaborate on an answer

(111) Warm and nurturing relationships with learners

iv) Varying modes of presentation

(v)  Preventing misbehaviour with a minimum of class disruption

(vi) Orgamsing what is to came and summarising what has gone before

Select vour answer from the options given below :

(1) (1), (iv) and (v) (2) (1), 1) and (i11)
(3) (i1), (1i1) and Gv) (4) (@v), (v) and (v1)
Options:

E4E350103347. 1
EAE350103948. 2
6453501023545 =



EAEZ50103350. 4

Question Number : 3 Question Id : 64635026484 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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6453501023547, 1
645350103948, 2
6453501039439, 5
E4EZ50103350. 4
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Correct Marks: 2 Wrong Marks: 0

Which of the following statements explains the concepts of inclusive teaching?

(1) Teacher facilitates the learning of the gifted students
() Teacher facilitates the learning of the weak students
(3) Teacher takes support of parents of the students to make them learn

(4) Teacher makes the students of different backgrounds to learn together in the same
class

Options:

645350102951 1
645350102952 2
645350102953
648350102954 4
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Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 Wrong Marks: O

Which among the following best describes the Emotional Intelligence of learners?
(a) Understand the emotion of other people and your own

(b) Express oneself very strongly

() Being rational in thinking

(d) Adjusting one’s emotion as per situation

(e) Being creative and open to criticism

()  Accepting other people as they are

Choose yvour answer from the options given below :

1) (&), d and ® (2) (d), (e) and ()
(3) (a), (b) and (c) @ (b), ) and (d)
Options:

645350103955 1
645350103956, 2
E4EZ50103357. 2
E4E3501033958. 4
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Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 Wrong Marks: 0

Bibliography given in a research report

(1) Helps those interested 1in further research
(2) Shows the vast knowledge of the researcher
(3) Makes the report authentic

(4) Is an optional part of the report

Options:

645350102959 1
645350102960 2
645350102961, =
6453501032962 4
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Correct Marks: 2 Wrong Marks: 0
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Question Number : 7 Question Id : 64635026488 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

The research design is specifically related to which of the following features in research?

(1) Sample selection

(11) Formulation of a plan

(111)  Deciding about the tool for data collection
av)  Hypothesis making

(v) Choice of a field of inquiry

Select your answer from the options given below.

(1) (11), (111) and (v) (2) (), (1) and (111)
(3) 11), (av) and (V) (4) (), av) and (V)
Options:

E45350103563. 1
645350103564, 2
645350103965, 3
45350103366, 4

Question Number : 7 Question Id : 64635026488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Through which research method, the manipulation of an independent variable and its effect
on dependent wvariable is examined with reference to a hypothesis under controlled
conditions?

(1) Ex-post facto research (2) Descriptive research
(3) Casge study research (4) Experimental research
Options:

6453501033967, 1
645350103968, 2
E4E35010336%9. =
EAEZ50103370. 4

Question Number : 8 Question |d : 64635026489 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350102967 1
48350103968 2
45350102969 =2
645350102970, 4

Question Number : 9 Question Id : 64635026490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following research studies interpretation and meaning get more attention
than formulation of generalisations?

(1) Historical studies

(11) Survey studies

(1)  Philosophical studies

(iv)  Ethnographic studies

(v) Hypothetico — deductive studies
(vi)  Ex-post facto studies

Choosge your answer from the options given below.

(1) @), (i) and Gii) (2) (v), (v) and (vi)
3 @), av) and (v) @) @), i) and (v)
Options:

645350103971, 1
EAB350103972. 2
EAE350103973. 2
EAE350103974. 4

Question Number : 9 Question Id : 64635026490 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is a plagiarism checking website?

(1) http://go. turnitin.com (2)  http://www.researchgate.com
(3) http//www. editorial .elsevier.com (4) http://www.grammarly.com
Options:

645350103975, 1
45350103976, 2
E4E350103377. 2
EAEZ50103978. 4

Question Number : 10 Question Id : 64635026491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4E350103975. 1
EAE3501035976. 2
6453501035977, 3
645350103978 4

Sub-Section Number: 2
Sub-Section 1d: 6463501300
Question Shuffling Allowed : Yes

Question Id : 64635026492 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

Michaelangelo 1s famous for having successfully interpreted the human body. His great
achievement is that of the painting of David whose hands reach out as a sign of human
capability and potential. It 1s assumed that the time he lived was ripe for exchange of
knowledge, development in science and matured enough to advance the horizon of
investigation in all fields. Renaissance humanism stressed on a serious rethink on the
nature of art that focussed on accurate details. In painting and sculpture, artists focussed on
not so casual but verifiable and minute details. Michaelangelo's paintings are no exception
toit. In a study published 1n the journal of the Roval Society of medicine, a group of surgeons
are of the opinion that the great master was “afflicted by an illness involving his joints”.
They have used his portraits as evidence to argue their view. During his life, he complained
of what he felt to be ‘gout’. Later he complained of his sore and stiff hands which the doctors
would find to be natural for someone who was engaged in handmade art. The doctors found
corroboration of those claims in portraits of the artist that show a hanging left hand with
both degenerative and non-degenerative changes. They attribute the pain not just to
arthritis, but to the stress of hammering and chiseling and note that though the master was
seen hammering days before his death at an old age, he did not write or sign his own letters
before his death. In recent times there have been attempts to diagnose famous artists with
diseases that were not known during their time. This practice has raised many questions,
especially on the 1ssue of ethics in research. It 1s also inferred from authentic analysis that
Michaelangelo persisted in his work until his last days. This theory would emphasize that
his artistic subject defied hus physical infirmmties.

Sub questions

Question Number : 11 Question Id : 64635026493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Michaelangelo lived during a time that lets us know that

(1) Human aspirations are limitless and open to new vistas of knowledge
(2) Cross cultural exchange in ideas 1g the only way for human progress
(2) It is progress of science and anatomy that contributes to civilizations exclusively

(4) Human beings possess language which is the only key to knowledge

Options:
645350102979 1
6453501032980 2
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Question Number : 12 Question Id : 64635026494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Renaissance painting in Europe was sceptical of
(1) The obsessive medieval method of accuracy
(2) The classical sitmphlicity and lack of control

(3) The case and decorative excess of earlier art

(4) Expressionist techmque

Options:
45350103953, 1

E4EZ50103984. 2
E4E3501033985. =
E4535010359586. 4

Question Number : 13 Question Id : 64635026495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The controversy that the passage above refers to is whether

(1) Michael angelo worked under duress

(2) Michael angel o could contain his physical infirmity by artistic excellence
(3) Michaelangelo submitted to disease

(4) Michaelangelo survived different diseases before pursuing art

Options:
48250103987, 1

EAEZS0103988. 2
E4E3501033989. =
6453501035930 4

Question Number : 14 Question Id : 64635026496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What generalisations do people subscribe to?

(1) Establishing facts by DNA tests
(2) Inferring the essence of character from famous people’s handwriting
(2) Carbon dating of the hair of celebrities to draw conclusion on their physical structure

(4) To retroactively diagnose famous artists and public figures of conditions that were
not prevalent during their time

Options:
648350102991 1
E4E350103992, 2
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6453501035994 4

Question Number : 15 Question Id : 64635026497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

What actually may be concluded from the above passage?

(1) Physical infirmities do dissuade people with capabilities from excelling

(2) Excellence in any form triumphs over extraneous factors including physical ailments
(3) Michaelangelo's gout and other aillments lessened his efficiency
(4) The diseases Michaelangelo faced were due to constant hammering

Options:

E4E35010233995. 1
EAE350103936. 2
6453501039597, 2
6453501039358 4
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645350102979 1
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645350102982 1
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45350103957, 1
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645350102991, 1
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645350102994 4
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645350102995 1
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Sub-Section Number: 3
Sub-Section 1d: 6463501301
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635026498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The dance of the honeybee conveying to other bees where nector will be found 1s an example
of

(1) Mass communication (2) Group communication
(3) Interpersonal communication (4) Intrapersonal communication

Options:



E4E3501035999. 1
645350104000, 2
645350104001, =
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Question Number : 16 Question Id : 64635026498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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645350102359593. 1
645350104000, 2
645350104001, 3
E4EZ50104002Z. 4

Question Number : 17 Question Id : 64635026499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0

Choose the correct sequence of communication from the options given below :

(1) Information — exposure — persuasion — behavioural change
(2) Persuasion — information — behavioural change — exposure
(3) Exposure — information — persuasion — behavioural change

(4) Behavioural change — information — persuasion — exposure

Options:

648350104002 1
45350104004 2
645350104005 5
645350104006, 4
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Options:

645350104003 1
648350104004, 2
45350104005 =2
645350104006, 4

Question Number : 18 Question Id : 64635026500 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a function of mass media?

(1) To transmit culture

(2) To formulate national policies

(3) To help the judiciary take its decisions
(4) To stabilise the share market

Options:

645350104007, 1
45350104008 2
645350104009 5
645350104010 4
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Correct Marks: 2 Wrong Marks: 0
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(4) SR T R

Options:

645350104007, 1
645350104008 2
645350104009 =
645350104010 4

Question Number : 19 Question Id : 64635026501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In a classroom situation, a teacher orgamses group discussion to help arrive at a solution of a
problem. In terms of a model of communication used, it will be called

(1) A transactional model (Z) Aninteraction model
(3) A horizontal model (4) A linear model
Options:

645350104011, 1
645350104012 2
645350104013 3
E4EZ50104014, 4

Question Number : 19 Question Id : 64635026501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U FArEH et 6 gun |, uF R R @ F g9 1 uger | g == AESE Al 3 9gE
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(1) el afea (2) =warskar giaarT
@)  Afes sfewr @) s wfFwr
Options:

645350104011, 1
E4EZ50104012, 2
E4E3501040132. =
645350104014 4

Question Number : 20 Question Id : 64635026502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Today’s media-society equation is largely

(1) Mystical (2) Morally bound
(3) Consumer conscious (4) Tradition centric
Options:

645350104015, 1
E4E350104016, 2
E4E350104017. =
645350104015, 4

Question Number : 20 Question Id : 64635026502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  w=wd (2) AAfaw w1 4 fagw
(3)  IuMiEET O=d 4) "R higd
Options:

645350104015, 1
645350104016, 2
645350104017, 3
645350104015, 4

Question Number : 21 Question Id : 64635026503 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

QOar 12 to rowboat as foot 1s to

(1) running (2) sneaker
(3) skateboard (4) Jjumping
Options:

E4E350104019. 1
EAE350104020. 2
645350104021, 2
645350104022 4

Question Number : 21 Question Id : 64635026503 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

v 1 AT G ° 38 G99 2 S Ui #

(1) a=tai (2) LA 3

(@)  Theard A 2 4) F a2
Options:

E453501040139. 1
EAE350104020. 2
645350104021, =
645350104022 4

Question Number : 22 Question Id : 64635026504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



For all integers y > 1, {y}=2y+(2y—1)+(2y-2)+...+1.
What is the value of (3) x {(2)? Where x 1s a multiplication operator?

(1 116 (2) 210
B 263 4 478
Options:

E4E350104023. 1
EAE350104024. 2
645350104025, =
645350104026, 4

Question Number : 22 Question Id : 64635026504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gt ol el % y > 1 e, (y} 2y+(2y—1)+(2y—2)+...+1.

(3) x (2) I HA FAT 7 @l x U AHITh 2

(1) 116 (2) 210
(3) 263 (4) 478
Options:

645350104023, 1
645350104024, 2
645350104025, 3
EAEZ50104026, 4

Question Number : 23 Question Id : 64635026505 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If 152 15 divided into four parts proportional to 3, 4, 5 and 7, then the smallest part 1s

1 29 (2) 26
B 25 4) 24
Options:

645350104027, 1
645350104028, 2
E4E350104029. =
EAEZ501040230. 4

Question Number : 23 Question Id : 64635026505 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1 29 (2 26
(3 25 @ 24
Options:

645350104027, 1
645350104028, 2
E4EZ50104029. =
EAEZ501040230. 4

Question Number : 24 Question Id : 64635026506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a new budget, the price of petrol rose by 25%. By how much percent must a person reduce
his consumption so that his expenditure on it does not increase?

1)  10% (2 15%
(3) 20% 4 25%
Options:

645350104021, 1
645350104032 2
645350104033 3
E4EZ50104024. 4

Question Number : 24 Question Id : 64635026506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 10% 2 15%
(3) 20% 4 25%

Options:

645350104021,
645350104032,
645350104033
648350104024,

B D

Question Number : 25 Question Id : 64635026507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A sum of money doubles at compound interest in 6 years. In how many vears will it become
16 times?

(1) 16 years (2) 24 years
(3) 48 years (4) 96 years
Options:

645350104035 1
E4E350104036, 2



E4E350104037. =
645350104035, 4

Question Number : 25 Question Id : 64635026507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

I3 G 6 AWl H hglg <O 9 aFHT 81 Sl 21 78 fohad adl H 16 71 81 | ?

1 16ad (2) 247§
@) 48 4 96784
Options:

E45350104035. 1
645350104036, 2
645350104027, 3
645350104025, 4

Question Number : 26 Question Id : 64635026508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the proposition ‘Houses are not bricks’ 1s taken to be False then which of the following
propositions can be True?

(@) All houses are bricks

(b) No house 12 brick

(c) Some houses are bricks

(d) Some houses are not bricks

Select the correct answer from the options given below :

(L) (and(© (2) (&) and (d)
(3) (b) only 4 (c) only
Options:

E45350104039. 1
E4E350104040. 2
645350104041, =
E4535010404Z. 4

Question Number : 26 Question Id : 64635026508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (b) =01 (c) (2) (a) & ()

@) %A« (b) @) Fad )
Options:

645350104035, 1
645350104040, 2
E4E350104041. =
EAEZ5010404%Z. 4

Question Number : 27 Question Id : 64635026509 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises :

1) No paper is pen

(11) Some paper are handmade.
Conclusions :

(1) All paper are handmade
(2) Some handmade are pen

(3) sSome handmade are not pen
(4) All handmade are paper

Options:

645350104042 1
645350104044 2
645350104045 =
648350104046, 4

Question Number : 27 Question Id : 64635026509 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
646350104043 1
646350104044, 2

E4E350104045. =
EAEZ50104046, 4

Question Number : 28 Question Id : 64635026510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘All republics are grateful’ and ‘Some republics are not grateful’ cannot both be true, and
they cannot both be false. This 1s called as

(1) contraries (2) contradictories
(3) subaltern (4) super altern
Options:

645350104047, 1
E4E350104048. 2
E4E350104049. =
EAE350104050. 4

Question Number : 28 Question Id : 64635026510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  fauda (2) e
(3)  IafEE @) wAeartE
Options:

645350104047, 1



EAE3501040458. 2
645350104045, =
645350104050, 4

Question Number : 29 Question Id : 64635026511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the reasoning in the following argument :

‘Use of teaching aids in the classroom to enhance learning i1s important in a similar way as

that of the use of ICT for production of knowledge’.

(1) Hypothetical (2) Analogical
() Inductive (4) Deductive
Options:

E4E350104051. 1
EAE350104052. 2
645350104053, =
645350104054 4

Question Number : 29 Question Id : 64635026511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  uiEedATeEE (2) HIETATHS
(3) AT (4) FIEATEE
Options:

E4E350104051. 1
EAE350104052. 2
645350104053, =
645350104054 4

Question Number : 30 Question Id : 64635026512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proposition No historians are non-mathematician’ is equivalent to which of the

following proposition?

(1) All historians are mathematicians

(2) No historians are mathematicians

(3) Some historians are mathematicians

(4) Some historians are not mathematicians
Options:

645350104055, 1
E4E350104056, 2
E4E350104057. =
E4E350104058. 4

Question Number : 30 Question Id : 64635026512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350104055 1
645350104056, 2
645350104057 =
645350104058 4

Sub-Section Number: 4
Sub-Section 1d: 6463501302
Question Shuffling Allowed : Yes

Question Id : 64635026513 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label @ Comprehension



Consider the following table that shows the number (in lakhs) of different sizes of LED
televigion sets sold by a company over the last seven years from 2012 to 2018. Answer the
questions based on the data contained in the table

Sale of LED Television sets (in lakhs) of different sizes (in inches)

Year Size of LED Television sets (in inches)

22" 24" 22" 40" 49"
2012 85 154 124 112 118
2013 100 136 112 94 136

2014 106 124 85 115 145
2015 115 100 160 100 85
2016 100 85 145 85 100
2017 115 70 175 55 130
2018 125 95 170 110 155

Sub questions

Question Number : 31 Question Id : 64635026514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the approximate percentage increase/decrease in the sales of 32-inch LED
Television sets in 2017 compared to that in 20137

(1) 36% (2) 56%
3) 5% @) 64%
Options:

E4E350104059. 1
645350104080, 2
645350104061, =
645350104062, 4

Question Number : 32 Question Id : 64635026515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For which size LED Television sets 12 the total sales of all the seven years the maximum?

(1) 22-inch Television (2) 24-inch Television
(3) 32-inch Television (4) 49-a1nch Television
Options:

645350104063, 1
E4EZ50104064, 2
E4E350104065. =
E453501040686. 4

Question Number : 33 Question Id : 64635026516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What 1g the difference in the number of 40anch Television sets sold 1n 2013 and 20187

(1) 1,600,000 (2) 1,500,000
(3) 15,000,000 (4) 16,000,000
Options:

645350104067, 1
645350104068, 2
E4E3501040689. =
EAEZ50104070. 4

Question Number : 34 Question Id : 64635026517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the total sale of Television sets of size 49-inches (in lakhs) over all the seven years?

(1) 912 (2) 896
(3) 879 4) 869
Options:

E4E350104071. 1
645350104072, 2
645350104073 3
645350104074, 4

Question Number : 35 Question Id : 64635026518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For which LED Television set 1s the total sales of all the seven years the minimum?

(1) 22-inch Television (2) 244anch Television
(3) 49-inch Television (4) 40-anch Television
Options:

645350104075, 1
645350104076, 2
645350104077, 3
E4E350104075. 4

Question Id : 64635026513 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension
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22" 24" 32" 40" 49"
2012 | 85 154 | 124 | 112 | 118
2013 | 100 136 112 94 136
2014 | 106 124 85 115 | 145
2015 | 115 100 160 | 100 85
2016 | 100 85 145 85 100

2017 115 70 175 55 130
2018 125 95 170 110 155

Sub questions

Question Number : 31 Question Id : 64635026514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i 2013 1 o # ad 2017 % A 32 39 F ud § & ¥fifaem dz i ekt § cren e faea
afg/+H &7

(1) 36% (2) b6%
@) 5% @) 64%
Options:

645350104053, 1
645350104080, 2
645350104061, 3
E4E3501040682. 4

Question Number : 32 Question Id : 64635026515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

mft o1 aw < Fa sl R R % ua § 2 efifasm e maifas 27

(1) 292-39 Jefifaem (2) 24-39 IAifaeH
(3) 323w Iefifaem (4) 49-3 efifasm
Options:

645350104063, 1
645350104064, 2
E4E350104085. =
EAEZ50104066. 4



Question Number : 33 Question Id : 64635026516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ay 2013 =1 2018 § &= U 40-39 ¥ Zofifaeq 2 $1 e d feaAr a7

(1) 1,600,000 (Z) 1,500,000
(3) 15,000,000 (4) 16,000,000
Options:

645350104067, 1
6453501040688, 2
6453501040683, =
E4E350104070, 4

Question Number : 34 Question Id : 64635026517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 912 (2) 896
(3) 879 (4) 869
Options:

E4E350104071. 1
EAE350104072. 2
645350104073, =
645350104074, 4

Question Number : 35 Question Id : 64635026518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ot A ani i foe s & ud § &) efifosm G2 i g feshl =gaae 237

(1) 2239 eitfasH (2) 24-3 IeAifeRH
(3)  49-39 AifasH (4) 40-39 IAifoeH
Options:

645350104075, 1
EAEZ50104076, 2
EAEZ50104077. =
645350104075, 4

Sub-Section Number: 5
Sub-Section Id: 6463501303



Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635026519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is a type of malware intentionally inserted into a software system
that will setoff a malicious function when specified conditions are met?

(1) Worm (2) Trogan
(3) Spyware (4) Logic bomb
Options:

E4E350104073. 1
E4AE350104080. 2
645350104081, =
645350104082 4

Question Number : 36 Question Id : 64635026519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) & (2 ged
(3)  EaE (4) it 98
Options:

645350104073, 1
EAEZ50104080. 2
645350104081, =
645350104082, 4

Question Number : 37 Question Id : 64635026520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Select the true statement about an Operating System (0S)?

(1) An OS controls peripherals, allocates memory and organises data into fields and
records

(2) An OS provides protection against viruses and controls peripherals
(3) An OBS controls peripheral, and allocates memory and processor time

4) IAD OS controls the processor and peripherals and allows the user to connect to the
nternet

Options:

645350104082 1
645350104084 2
645350104085 =
648350104086 4

Question Number : 37 Question Id : 64635026520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

648350104082 1
45350104024 2
645350104085 5
645350104086, 4

Question Number : 38 Question Id : 64635026521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that shows the storage devices in order of capacity from lowest to highest

(1)  CD-ROM, DVD-ROM, Blu-ray
@  Bluray, CD-ROM, DVD-ROM
@  DVD-ROM, Blu-ray, CD-ROM
4  DVD-ROM, CD-ROM, Blu-ray

Options:

645350104087 1
645350104088 2
645350104089 =
645350104090, 4

Question Number : 38 Question Id : 64635026521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(4) A d- AR A uE, 9 € - A’ o9l W, seg-{

Options:

£46350104087. 1

£46350104088. 2

E4E350104089. =
EAE350104030. 4



Question Number : 39 Question Id : 64635026522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements(s) is/are True in respect of Wireless Technology?

P Bluetooth 1s a wireless technology which can be used to connect a headset to a mobile
phone.
Q@ : DBluetooth is a long range wireless technology and is a low cost means of data
transfer.
(1)  Ponly (2) Q only
(3) Both P and Q (4) Neither P nor @
Options:

E4E350104091. 1
E4E3501040392. 2
6453501040393, =
645350104054 4

Question Number : 39 Question Id : 64635026522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) Fad P (2) %EIEIQ

(3) PIrQagHr (4) ATPAQ

Options:

645350104091 1
645350104092 2
648350104092 =2
645350104094, 4

Question Number : 40 Question Id : 64635026523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following pairs LEAST matches in respect of computers?

(1) 1 GigaByte : (1024) x (1024) x (1024) x 8 bits
(2) CRT . Cathode Ray Tube
(3) ROM . Rapid Online Memory
(4) CPU . Central Processing Unit
Options:

E45350104095. 1
6453501040396, 2
645350104057, 2
645350104095, 4

Question Number : 40 Question Id : 64635026523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  1fhremge : (1024) x (1024) x (1024) x 8 fzm
@ " aErd . Fde e
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Options:

645350104055, 1
6453501040396, 2
645350104097, 3
E4E350104038. 4

Question Number : 41 Question Id : 64635026524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the last few years, India has been affected by which of the following tropical cyclones?

(1) Gaja, Hudhud, Bhima (2) Hudhud, Bhuma, Ocklu
(3) (Gaja, Hudhud, Ockhi (4) Gaja, Bhima, Ockhi
Options:

E453501040939. 1
645350104100 2
645350104101, 2
645350104102 4



Question Number : 41 Question Id : 64635026524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fest uiel @i o ARE Wi Hefafad § 4 w5 3 SwrsfEd awami o wied g 87

(1) T, gage, HiH (2) @cga, W, S
(8) TN, gaga, ANl (4) T, W, Sl
Options:

645350104093 1
645350104100 2
E4E350104101. =
E4E350104102. 4

Question Number : 42 Question Id : 64635026525 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
Which of the following are priority areas in relation to the Sustainable Development Goals?
(a) No poverty
(b) Zero hunger

(c) Reducing urbanization

(d) Peace, justice and strong institutions

Choose the correct answer from the options given below :

1 @, b),© (2 (a), (), @
@) (b)) @ @ (a), (b), (D
Options:

645350104102 1
E4E350104104, 2
E4E350104105. =
645350104106, 4

Question Number : 42 Question Id : 64635026525 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



feferfaa et § o SaraeitT o el & qag § S 9 i 56 27
(@) e @ gfaa

(b) & T
©) T o Ry T

() wfd, = = gge e
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L @, b) @ 2 (@), @, D

@ b, © d @ (a), (b), (@
Options:

645350104103, 1
645350104104, 2
645350104105, 2
645350104106, 4

Question Number : 43 Question Id : 64635026526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Methemoglobinemia is a condition in which blood 1s not able to carry and

deliver enough oxygen to the body.

Reason (K) : Consuming drinking water with high mnitrate levels may cause

methemoglobinemia.

Choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 18 not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 15 false but (R) 1s true

Options:

645350104107 1
645350104108 2
645350104109 =
648350104110 4



Question Number : 43 Question Id : 64635026526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AN (A) 0 AuErarfeEiE v o R 2 S e il fafis e s Tte diedise $i

argfd 421 # ran 2|
as(R) :  AEge F IA °E A YA F I w8 WAl 2T g
A=l feu v Qe O OE IO F =99 W

(1) (A AR®) aF & 2 a0 (R), (A) F 1 saven 8
@ A ®) aF 9l 2, B R), (A) F 5 w4 2
(3 (A ud g, e R) T 2

@  (A)Ted 2, fFg R) T 2

Options:

645350104107 1
645350104108 2
645350104109 =
648350104110 4

Question Number : 44 Question Id : 64635026527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : High concentration of ozone in the lower troposphere is desirable.

Reasons (R) : Ozone present in the atmosphere protects the living organisms on the

surface of earth from the harmful ultra-violet radiation of the sun.

Choose the correct answer from the optons given below :

(1) Both (A) and (R) are true and (R) 12 the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 15 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:
645350104111 1
645350104112 2



453501041132 =
645350104114 4

Question Number : 44 Question Id : 64635026527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

aftswsE (&)  : et oy dea § <NA %0 3 gign e 2

s R) : agHEa H IufeE ASH g % R s i & gedl g9 o se Sigel o
il 2
Hi= feu o el O o T F =mA F+H

(1) (A) =R (R) aHT &1 2 aur (R), (A) 6 w9l =aren 2
@ (A @R ®R)aFT 9 2, g ®), (A) #i gt saren 4 2
@) (A 5 2, e (R) Tea 2

@ (A T 2, fg R) ot 2
Options:
C4E=ZE0104111. 1
C4s25E0104112. 2
CAE3ZE0104112 2
CAE2E0104114 4

Question Number : 45 Question Id : 64635026528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Algal blooms 1n oligotrophic lakes are

(1) very frequent (2) frequent
(3) very rare (4) widespread
Options:

E45350104115. 1
645350104116, 2
645350104117, 3
645350104115 4

Question Number : 45 Question Id : 64635026528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  d aImER (2) ==
(3) wgd F AR (4) <IaE qi aT
Options:

645350104115 1
645350104116, 2
645350104117, 3
45350104118 4

Question Number : 46 Question Id : 64635026529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In post independence India, which one of the following Committee/Commission’s report deals
with all levels of education in India?

(1) Sargeant Commisegion

2 Hartog Committee

(3) Kothari Commission
(4) Radhakrishnan Commission

Options:

645350104119 1
645350104120 2
645350104121 =
648350104122 4

Question Number : 46 Question Id : 64635026529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Em%gﬁﬁmm%ﬂﬂ%ﬁqﬁrmmmaﬁwwﬂﬁw%mﬁmﬂmm%

(1)  dmie AE
(2) g2 |l e
(3)  DeN @ figid
@)  TUFOE A=
Options:
646350104119, 1
646350104120, 2

645350104121, 2
E4535010412Z 4

Question Number : 47 Question Id : 64635026530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Education Commission of India that first took serious note of the problem of Brain Drain
was

(1) The Education Commission of India
(2) The University Education Commission
(3) The Calcutta University Commission
(4) The Sargeant Commission

Options:

645350104123 1
645350104124 2
645350104125 3
45350104126 4

Question Number : 47 Question Id : 64635026530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FH H HEAHE F1# A= A g9y ggel 9fanT gaEd B aae g egH B9t

(1)  wrdE e
@  foyataenem fem amm
(3) ool Evataeed A
@) A AEE
Options:
648350104123, 1
646350104124, 2
646350104125, 3
646350104126, 4

Question Number : 48 Question Id : 64635026531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The present form of Inter University Board that was previously established for promoting
cooperation and coordination among Universities is

(1) UGC (2) AIU
(3) NUEPA 4) ICSSR
Options:

645350104127 1
EAEZ50104128. 2
E4E350104129. =
E453501041300 4

Question Number : 48 Question Id : 64635026531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) g (2 THEY
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Options:

E4E350104127. 1
EAEZ50104128. 2
645350104125 =
645350104120 4

Question Number : 49 Question Id : 64635026532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following instructional designs 1s not a part of SWAYAM launched by
Government of India?

(1) E-tutorial (2) E-Content
(3) Physical interaction (4) Discussion Forum
Options:

E45350104131. 1
EAE350104132. 2
645350104133 5
645350104124 4

Question Number : 49 Question Id : 64635026532 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefafiaa @ o =9 a1 SguTeHEs Affeey WHA TEH g 9% [T T UF s € a15 U uH (FE9E) H
snfee 7 27

(1) §- i@« (2) 3§ - @i
@)  vifas @i (4) ===
Options:

E4E350104121. 1
E4E350104132. 2
645350104133 5
6453501041234 4

Question Number : 50 Question Id : 64635026533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following NOT correctly matched?

(1) Gyandarshan —  Satellite based educational T.V. Channel
11) Gyan vam —  Educational FM Radio network
n) MOOCs —  Massive Open Online Credits

Choose the correct answer from the options given below :

(1) Only (1) and (11) (2) Only () and (11)
(3) Only (111) (4) Only (1) and (111)
Options:

645350104135 1
645350104136, 2
E4E350104137. =
EAEZ50104138. 4

Question Number : 50 Question Id : 64635026533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fafafaa @ 9 =9 a1 30 gafaa T8 27

i) ¥ &¥H — 3wz At dfew & S

(i) @ Ao ~ 9" o un A A

(i) A A A1 H —  OftE A AR sfsem

= fou v Aot & wE 39w = =)

(1) ad (i) =1 (i) (2)  had (i) A (i)

(3)  Fad (iii) (@) wad () =AW (i)
Options:

E4E5350104135. 1
645350104136, 2
645350104137, =
6453501041358 4

PART 11 Crirrinology

Section Id : 646350522
Section Number : 2

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 96
Number of Questionsto be attempted: 96

Section Marks: 200
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 6463501304
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635026534 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The term “Translational Criminology” translates
1.  criminology theory/concepts to policy
2. law to policy
3.  criminological policy to theory

4. criminological policy to concept

Options:

645350104139 1
648350104140 2
45350104141 =
645350104142 4

Question Number : 51 Question Id : 64635026534 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TR fafaeTarel @1 3if -

1. IRINER Rigra/[yro 9 i

2. BT AN
3. RIS g 9 g

4. SURIYRRS Hifd T Sr@yron

Options:

645350104129 1
645350104140 2
645350104141 =
648350104142 4

Question Number : 52 Question Id : 64635026535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which school of criminology has argued that criminal offences and their penalties be
specified in the law for equal justice and for sanctions to be severe enough to achieve

deterrence?

1. Positivists
2. Sociological
3.  Demonological

4. Classical
Options:
645350104143 1
645350104144 2
645350104145 =
E4AE350104146. 4

Question Number : 52 Question Id : 64635026535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR & g faaR 9wier 3 g8 gdia 41 8 i smmiy aur 39 <8, SHge <™ aul
vigdy 37 &3 g % a8 waRfaert 81, o1 # R e ?

1. YggEral

2. GHRIRGE
3. Yd-Ud I
4. UEd

Options:

645350104142 1
645350104144 2
645350104145 =
648350104146 4

Question Number : 53 Question Id : 64635026536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which treatise 1s Kautilya credited to have authored?
. Arthasastra
2. Kamsutra
3. Avur Vigyan

4.  Dharmasastra

Options:

645350104147 1
645350104148 2
645350104149 =
648350104150 4

Question Number : 53 Question Id : 64635026536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350104147 1
645350104148 2
645350104149 =
648350104150 4

Question Number : 54 Question Id : 64635026537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following has studied criminal conduct in terms of morphological

characteristics?

| Robert Merton
7.8 Charles Darwin

3. (Cesare Lombroso

4. Aldous Huxley

Options:

648350104151 1
45350104152 2
645350104152 =
645350104154 4

Question Number : 54 Question Id : 64635026537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fafafad H 9 5 S [vdel $1 @ 3 smoy 3r=Ru &1 siera a1 82
. YA
2. e Sifdw
3. HioR diE
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Options:

645350104151, 1
E4E350104152. 2
E4E350104153. =
EAE350104154 4

Question Number : 55 Question Id : 64635026538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What offence does a person commit if he puts a businessman to fear of injury and runs

away with his purse and mobile phone?

1. Thsit

2. Extortion
3.  Robbery
4. Dacoity

Options:

645350104155 1
645350104156 2
645350104157 =2
48350104158 4

Question Number : 55 Question Id : 64635026538 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. dx
2. fordch
3. T
4. Sl

Options:

645350104155 1
645350104156, 2
645350104157 =
645350104158 4

Question Number : 56 Question Id : 64635026539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



List-1 List-II

(a) Quantitative research (1)  Feelings/emotions

(b) Qualitative research (1) Measurement/numbers
(¢) Mixed method (1) Numbers/words

(d) Exploratory research (1v)  First-time research

Choose the correct option from those given below :

L. (a-@); (b)-1); (0)(iv); (d)iii)
2. (a)-(); (0)—1); (©ib); (d)-av)
3. (a)-(); (B)-); (0)-(iin); (D-v)
4. (a)-(v); (b)-(); (c)-(1); (1)

Options:

645350104159 1
645350104160 2
648350104161, =2
45350104162 4

Question Number : 56 Question Id : 64635026539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1 3 -1 D FARE FR

-1 G-I
(a) WETHS Y (1) oM/

(b) TUTES Y (i)  AT/EE

(¢ Myugh (i) H&I=
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1. (a)y1), (b)-11); (c)iv); (d)-{i1)
2. (a)-(); (b)~1); (e)it); (d)—({v)
3. (a)y); (b)), (c)—); (d)-v)
4. (a)(iv); (b)-(ii); (c)-(i); (D))

Options:

E4E250104159 1

C4E250104180 2

645350104161, =
45350104162 4

Question Number : 57 Question Id : 64635026540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which country among the following does NOT have capital punishment?

1.  Sr Lanka
2. Russia

3. Italy

4.  TIran

Options:

645350104162 1
645350104164 2
645350104165 =
48350104166 4

Question Number : 57 Question Id : 64635026540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frofefen 32 g 33 8 s T 22
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Options:

645350104163 1
645350104164 2
648350104165 =2
45350104166 4

Question Number : 58 Question Id : 64635026541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following homes is related to reformation and rehabilitation of commercial

sex workers?

1.  Juvemnle home
2. Shelter home
3.  Children home

4. Protective home

Options:

645350104167 1
645350104168 2
648350104169 =2
45350104170, 4

Question Number : 58 Question Id : 64635026541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4., TREUTE

Options:

645350104167 1
48350104168 2
45350104169 =
645350104170 4

Question Number : 59 Question Id : 64635026542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following reports caused the enactment of the Madras Children Act, 1920,
the Bengal Children Act, 1922 and the Bombay Children Act, 19247

1. Mulla Committee Report

2. Indian Jails Committee Report

3.  The Reckless Report

4. V. R. Krishna Iver Committee Report

Options:

645350104171 1
648350104172 2
45350104172 =2
645350104174 4



Question Number : 59 Question Id : 64635026542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350104171 1
645350104172 2
645350104173 =
645350104174 4

Question Number : 60 Question Id : 64635026543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are victim’s rights?
(a) Reformation of offenders
(b)  Prompt filing of complaints
(¢) Vichm assistance
(d) Information about case proceedings
Choose the most approprate answer from the following :
1. (a)and (b) are correct
2. (a), (b) and (c) are correct
3. (a), (¢) and (d) are correct
4. (b}, (¢) and (d) are correct
Options:
646350104175, 1
646350104176, 2

645350104177, 2
645350104175 4

Question Number : 60 Question Id : 64635026543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350104175. 1
EAE350104176. 2
645350104177, =
645350104175 4

Question Number : 61 Question Id : 64635026544 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The process of keeping newly admitted prisoners separately under observation for a

specified time is called

1. classification process
2. after-care programme

3.  quaraniine process

g

pre-release programme

Options:



E4E350104179. 1
645350104180 2
6453501041581, =
6453501041582 4

Question Number : 61 Question Id : 64635026544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350104179 1
645350104180 2
6483501041281, =
453501041282 4

Question Number : 62 Question Id : 64635026545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following comes under Green Criminology?

1 Sedition
2. Phishing
3.  Theft

4. Trafficking in persons

Options:

645350104182 1
6453501041584 2
645350104185 =
648350104136 4

Question Number : 62 Question Id : 64635026545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350104182 1
45350104124 2
645350104185 5
6453501041586, 4

Question Number : 63 Question Id : 64635026546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In internet usage, “blog” means—
1.  Virus
2. Cooking
3. Online journal

4. Trojan

Options:

648350104187 1
45350104188 2
645350104189
645350104190 4

Question Number : 63 Question Id : 64635026546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ST IUTNT § ‘AT 31 o 22

¢

Options:

645350104187, 1
645350104188 2
645350104189 =
6453501041390 4

Question Number : 64 Question Id : 64635026547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The first statistical information on crime was published in

I India

2. Germany

3.  England

4. France

Options:

645350104191 1
645350104192 2
6453501041392 =
648350104194 4

Question Number : 64 Question Id : 64635026547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350104191, 1
645350104192 2
645350104193 =
645350104194 4

Question Number : 65 Question Id : 64635026548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : Under Section 36 of Code of Criminal Procedure, the police officer
superior in rank to an officer in-charge of a police station may exercise
the same powers, throughout the local area to which they are appointed,

as may be exercised by such officer within the limits of his station.

Reason(R) : The Superintendent of Police enjoys these powers within his district
and Director-General of Police enjoys them within the State.

Choose the appropriate option from the following :

a—

(A) is correct, but (R) is wrong
2. (A)iswrong, but (R)1s correct
3. Both (A)and (R) are correct

4.  Both (A) and (R) are wrong

Options:
4532501041551

E4EZ50104136, 2
E4E350104197. =
6453501041395, 4

Question Number : 65 Question Id : 64635026548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350104195 1
645350104196 2
645350104197 =
648350104198 4

Question Number : 66 Question Id : 64635026549 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is correctly matched?

1. Chi-square : Multivariate analysis
2. Regression : Univariate anal ysis
3. Unethical : Plagiarism

4. Hypothesis : Reliability

Options:



E45350104199. 1
645350104200, 2
645350104201, =
645350104202 4

Question Number : 66 Question Id : 64635026549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Froffaa & 3 o= o gw gafm 22
1. BR-WNR © SgR fazawm
2. ydOTEH © UHEER [T

3. Hfae . gifeids 9

4. uiEe o faysetga

Options:

645350104199 1
E4E8350104200, 2
45350104201, =2
645350104202 4

Question Number : 67 Question Id : 64635026550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Earlier on, which one among the following was NOT the form of corporal punishment?
1. Flogging
2. Muftilation
3.  Branding

4. Transportation
Options:
646350104203, 1
646350104204, 2
646350104205, 3
646350104206, 4



Question Number : 67 Question Id : 64635026550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ted Fofefed § @ o9 91 te IR <8 @1 w0 1l ure
1. @8 HRA
2. ot fa=de
3. BIWIETH

4. AU B Gel

Options:

645350104202 1
645350104204 2
645350104205 =
48350104206 4

Question Number : 68 Question Id : 64635026551 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s/are awarded by the court?
(a) Day care
(b) Parole
(¢) Probation
(dy After-care
Choose the correct answer from the following :
1. (b)is correct
2. (c)is correct
3. (d)is correct

4. (b) and (d) are correct

Options:
645350104207, 1
645350104203 2



E4E35010420%9. =
E4AE350104210. 4

Question Number : 68 Question Id : 64635026551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Foferfaa & 2 o IR A T g iy o srar 82

(a) SHW
(b)y OI@
(¢)  URdiam

(@) I-IRem

Frofaied # 9 98t 3T giferg :
L (b) IR
2. (9 WEe
3. (HTAE
4. (b) SR TE

Options:

645350104207 1
48350104208 2
45350104209 =2
645350104210, 4

Question Number : 69 Question Id : 64635026552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Legal representation is a crucial and integral part of juvenile justice process. Itis reflected
11—

(a) Mandela Rules

(b) UNCRC, 1989

(¢) Beijing Rules, 1985

(d) Havana Rules, 1990

Select the most appropriate code from the following :
1.  (a), {(b) and (c) are correct
2. (a)and (b) are correct
3. (b}, (¢)and (d) are correct

4. (a), (¢)and (d) are correct
Options:
645350104211, 1
645350104212 2
645350104213 =
645350104214 4

Question Number : 69 Question Id : 64635026552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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4. (a), () IR (d) TR E

Options:

645350104211 1
645350104212 2
45350104212 =
645350104214 4

Question Number : 70 Question Id : 64635026553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Under which law are crime victims belonging to Scheduled Castes and Scheduled Tribes

provided compensation by government?

1. Indian Penal Code
2.  Protection of Civil Rights Act
3.  SC/ST (Prevention of Atrocities) Act

4.  Indian Evidence Act



Options:

645350104215 1
648350104216 2
45350104217 =2
645350104218 4

Question Number : 70 Question Id : 64635026553 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fofated § 9 59 S & dgd SagfEa siaal SR SrSfed Seenadt & STy -Uifsal &
WHR g1 &ifagfd ver &1 St 82

. YRGS e
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Options:

645350104215 1
645350104216 2
645350104217 =
645350104218 4

Question Number : 71 Question Id : 64635026554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Among the following, which country awards death penalty to those indulging in
corruption?

1.  United States of America

2.  Brazl

3.  People’s Republic of China

4. New Zealand

Options:
E4e3250104219. 1

EAEZ50104220. 2



EAE350104221. =
EAE35010422%. 4

Question Number : 71 Question Id : 64635026554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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T
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2. gl
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Options:

645350104219 1
E4E350104220 2
45350104221 =2
645350104222 4

Question Number : 72 Question Id : 64635026555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Crime Prevention Through Environmental Design (CPTED) 1s associated with
1. M. S Jankowski
2.  Ray Jeffery
3.  Thrasher

4. Klein

Options:
45350104223 1

EAEZ50104224, 2
EAEZ50104225. =
EAEZ50104226. 4

Question Number : 72 Question Id : 64635026555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2. XOmd

3. IR
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Options:

645350104222 1
645350104224 2
645350104225 =2
48350104226 4

Question Number : 73 Question Id : 64635026556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The term “Pity and Probity’ is associated with
1. Enrico Fern
2. Raffaelo Garofalo
3. (Cesare Lombroso

4, Emile Durkheim

Options:

645350104227 1
48350104228 2
45350104229 =2
645350104220, 4

Question Number : 73 Question Id : 64635026556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. ZHEEgEM

Options:

645350104227 1
645350104228 2
645350104229 =
648350104220 4

Question Number : 74 Question Id : 64635026557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Assertion (A) : In series of non-cognizable offences in a case, if one of the offences is

cogmzable, the whole case becomes a cogmzable offence.

Reason (R) : Innon-cognizable offences, police cannot investigate without an order

from the Magistrate.

Choose the appropriate option from the following :
1. (A)is correct, but (R) 1s wrong
2. (A)is wrong, but (R) is correct
3.  Both(A)and (R) are correct

4.  Both(A) and (R) are wrong

Options:

645350104231 1
648350104232 2
45350104222 =2
645350104224 4

Question Number : 74 Question Id : 64635026557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350104231 1
6483501042322 2
645350104222 5
645350104224 4

Question Number : 75 Question Id : 64635026558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following in sequence as done in criminology research :

(a) Find reliability of tool

(b) Collect data for main study

(¢) Conduct pilot study

(d) Finalise tool

Choose from the following options :

1. (a), (b), (c), (d)

2. (a),(c), (b),(d)

3. (0, (a), (@), (b)

4. (d), (c),(b), (@)

Options:

645350104235 1
453501042328 2
645350104227 5
645350104228 4

Question Number : 75 Question Id : 64635026558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Fraferea fieed & § 98 9w S
1. (@), (), (c) 3R ()
2. (a),(c), (b) M)
3. (o), (@), (d) M (B)
4. (d), (), ®) 3R (a)

Options:

645350104235 1
453501042328 2
645350104227 5
645350104228 4

Question Number : 76 Question Id : 64635026559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who observed that restorative justice programme aimed at harm reduction and

reintegration of offenders into the commumty?

1. John Hagan
2. Travis Hirschn
3. Robert Merton

4. John Braithwaite

Options:
645350104229 1
645350104240 2



E4E350104241. =
EAE35010424%. 4

Question Number : 76 Question Id : 64635026559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. SHEH

2. =iy fefRf
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Options:

645350104229 1
645350104240 2
645350104241 =
648350104242 4

Question Number : 77 Question Id : 64635026560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following 1s NOT commumty-based correction?

]

Commumty service order
2. Probation
3.  Simple imprisonment

4.  Admomtion

Options:

645350104242 1
645350104244 2
645350104245 =
648350104246 4

Question Number : 77 Question Id : 64635026560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frofafad 5 9 o @ 9ger enumfia gur T8 87
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Options:

645350104242 1
645350104244 2
645350104245 =
645350104246 4

Question Number : 78 Question Id : 64635026561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The United Nations Standard Mimmum Rules for the Adminmistration of Juvenile Justice,
1985 1s also called

1.  Havana Rules
2. Tokyo Rules
3.  Beijing Rules

4. Riyadh Guidelines

Options:

645350104247 1
645350104248 2
645350104249 =
645350104250 4

Question Number : 78 Question Id : 64635026561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350104247 1
645350104248 2
645350104249 =
648350104250 4

Question Number : 79 Question Id : 64635026562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who has authored to book, The Criminal and his Victim?
1.  Charles Goring

2. Enrico Fern

3. Glueck

4. Von Hentig

Options:

645350104251 1
648350104252 2
645350104252 5
645350104254 4

Question Number : 79 Question Id : 64635026562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350104251 1
648350104252 2
45350104252 =2
645350104254 4

Question Number : 80 Question Id : 64635026563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following has defined crime as ‘an intentional act or omission in
violation of criminal law commutted without any defence and justification and penalised

by law as felony or misdemeanor’?

William Blackstone

p—

2. Paul Tappan
3.  John Gillin

4. Donald Taft

Options:

645350104255 1
645350104256 2
648350104257 =2
645350104253 4

Question Number : 80 Question Id : 64635026563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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HeER & ¥ H gfsd & mn?

1. fafvas stowH
2. UldTEA

3. oiF e

4., SHESCE

Options:
645350104255 1



EAEZ50104256. 2
645350104257, =
645350104255, 4

Question Number : 81 Question Id : 64635026564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which State of India, Prosecution Department 1s under the Police Department?
1. Bihar
2. Chhattisgarh
3. Karnataka

4. Maharashtra

Options:

645350104259 1
645350104260 2
645350104261, =
645350104262 4

Question Number : 81 Question Id : 64635026564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

YRA & {9 T | ifomier Ay gier fauqm & s 82
1. f¥&r

2. BTG
3. HARH
4. HERIY

Options:

645350104259 1
645350104260 2
648350104261, =2
645350104262, 4

Question Number : 82 Question Id : 64635026565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Social disorganization theories are mainly advanced by—
1.  Classical school
2. Chicago school
3.  Biological school

4. Psychological school

Options:

645350104263 1
645350104264 2
E4E350104265 =
645350104266, 4

Question Number : 82 Question Id : 64635026565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T faTe Rigial @1 Tidure qeraa fodes g faar man?
1. YA fIER IweE
2. R R 9wy
3. ofdw ferR gaem

4.  TEOyRe ER awem

Options:
645350104263, 1

EAEZ50104264, 2
EAE350104265. =
EAE350104266. 4

Question Number : 83 Question Id : 64635026566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

To be efficient and useful a research sample should be—
1. large
2. representative
3.  comprehensive

4. complete

Options:
645350104267 1



EAEZ50104268. 2
6453501042689, =
E45350104270. 4

Question Number : 83 Question Id : 64635026566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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2. viatRmae
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Options:

645350104267 1
48350104268 2
45350104269 =2
645350104270, 4

Question Number : 84 Question Id : 64635026567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List-] List—II
(a) Retributive theory (1) To detect and prevent the potential criminals

(b) Deterrence theory (11) To reform the criminal to adjust to the social
order

(¢) Reformative theory  (ii1) Compensating the loss or damage demanded
from the criminal

(d) Reparation (iv) Tooth for a tooth

(v) Physically incapable to commit offence

Choose the correct option from those given below :
1. (a)-(); (b)-(u); (c)—(m); (d)-av)
2. (@-v); (b)) (e)-i); (d)ii)
3. (an); (i) (—D; (d—v)
4. (a-(u), (B-av); (e)-(v); (d)-@

Options:

45350104271 1
645350104272 2
645350104272
645350104274 4

Question Number : 84 Question Id : 64635026567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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-1 11
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(¢) FuREs g (i)  SroRef I B A1 &ffy BT g B
(d) grgfd (iv) GId® Seq ad
(v) 3Oy H & fau IRie 0 F 3em
i o U fAee | § 9Et ITR B 99 HIo ;
L. (@), (b)), (o)iii); (d)-Gv)

2. (@)-v); (b)-(1); (c)—(ii); (d)~iii)
3. (ay(1); (b)), (c)-(1); (d—(v)
4. (a)-(u); (b)-(v); (c)~v); (A1)

Options:

648350104271 1
45350104272 2
645350104272 5
645350104274 4

Question Number : 85 Question Id : 64635026568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which type of convicts are eligible for the grant of probation?

S
.

First time offenders
2. Less serious offenders
3.  Not convicted under drug laws

4.  All of the above

Options:
45250104275 1
E4E350104276. 2



EAEZ50104277. 3
EAE350104275. 4

Question Number : 85 Question Id : 64635026568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350104275 1
645350104276 2
E4E350104277. 2
45350104275 4

Question Number : 86 Question Id : 64635026569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Section 12 of the Juvenile Justice Act, 2015 bail for all children alleged to
be in conflict with law 1s

1.  amatter of privilege
2.  amatter of right
3.  amatter of availability of sureties

4. amatter of availability of lawyer

Options:

6453501042793 1
645350104280 2
648350104281, =
6453501042582 4

Question Number : 86 Question Id : 64635026569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



919 19 JRATH, 2015 B YR 12 & TR B J Jd HRd g4 5= & o 594
1. [RuiteR o fiva g
2. iR @ fava g
3. SHFAGR B IUdsdl 31 favg §
4. B B UK BT [T B

Options:

4350104279, 1
645350104280, 2
645350104281, =
645350104282 4

Question Number : 87 Question Id : 64635026570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

List-I List-II
(a) Howard S. Becker (1) A Theory of Differential Social Control
(by William J. Chambliss (11) Primary and Secondary Deviance
(¢) Albert K. Cohen (m) Deviance and Control
(d) Edwin M. Lemert (1v) The Saints and the Rough Necks

(v) Labelling and Deviant Career

Choose the correct option from those given below :
1. (a)—(v); (B)-(v); (¢)—1i1); (d)-()
2. (@-Qv); (b)), (e)—(1i); (1)
3. (a)-(m); (b)—-(u); (¢)—~1); (D—(v)
4. (a)-(); (b)-); ()-v); (i)
Options:
646350104283, 1
646350104284, 2

6453501042585, =
645350104256, 4



Question Number : 87 Question Id : 64635026570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Telt-1 ot Fel-11 | gafer i :
a1 -1

(a) TIaTS TH. ¥ () fvce amfe o o Rigia
(b) fafcram s Imi= (i) Uit R fdias dgas

(c) IeaC . DigA (i) e iR Pz

(d) vsl= . awe (iv) THH TS >

(v) &1 AT R faefer afe

= feu v Ao 7 T 98 ST &1 99 St -
1. (@), (b)y-Qv); (e)-(11); (d)—(in)
2. (a-Qv); (b)-(ur); (c)-(); (DD
3. (a)-@u); (b)-w); (-@); (D)
4. (a)-(); (b)—1); (0)v); (d)—(iii)

Options:
E4E32E010428=2. 1

EAEZ501042584. 2
EAE350104285. =
EAE350104256. 4

Question Number : 88 Question Id : 64635026571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When the “label criminal’ is removed from an action, event or person, it is called—
1.  criminalisation
2. rehabilitation
3. rachcalisation

4, decriminalisation

Options:



E4E3501042587. 1
EAE350104288. 2
6453501042589, =
645350104230 4

Question Number : 88 Question Id : 64635026571 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o e e a1 e F el 3w geT R T2 A S pEa
1. oo

2. UFaN
3. YzmamewH
4.  Taemdiezor

Options:

645350104287, 1
645350104288 2
6453501042589 =
645350104290, 4

Question Number : 89 Question Id : 64635026572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The argument that the ‘objective of criminology is the development of the body of
general and verified principles and of other type of knowledge regarding the process of

law, crime and treatment’ 1s advocated by

15 Thorsten Sellin
2. Walter C. Reckless
3.  Edwin H. Sutherland

4. John Gillin

Options:

645350104291 1
645350104292 2
645350104293 =
648350104294 4

Question Number : 89 Question Id : 64635026572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

648350104291 1
45350104292 2
645350104292 5
645350104294 4

Question Number : 90 Question Id : 64635026573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
Who among the following advocated that “a key factor in criminal careers is that
individuals are labelled and treated as deviants; societal reaction thus does not prevent

but causes criminal involvement™?

[

Travis Hirschi
2.  Howard S. Becker
3.  Albert K. Cohen

4. Sheldon and Eleanor Glueck

Options:

645350104295 1
645350104296 2
645350104297 =
645350104298 4

Question Number : 90 Question Id : 64635026573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350104295 1
45350104298 2
645350104297 5
645350104298 4

Question Number : 91 Question Id : 64635026574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The 25th High Court in India is in the State of

1.  Chhattisgarh
2. Sikkim
3. Telangana

4.  Uttarakhand

Options:

645350104299 1
E4E8350104200, 2
645350104201, 5
645350104202 4

Question Number : 91 Question Id : 64635026574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350104299 1
645350104200, 2
648350104201, =2
645350104202 4

Question Number : 92 Question Id : 64635026575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Equality before law 1s a—
1.  Fundamental Right
2. Directive Principles of State Policy
3. A privilege to some selected people

4. A government resolution on this matter

Options:

E4E350104202 1
645350104204 2
645350104205 5
645350104306, 4

Question Number : 92 Question Id : 64635026575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
645250104203, 1

E4E350104304, 2
E4E350104205. =
EAE350104206. 4

Question Number : 93 Question Id : 64635026576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

A research conducted with a scientific approach, where a set of variables are kept
constant while the other set of vaniables are being measured as the subject of experiment

15 known as

1.  Qualitative research
2. Expenmental research

3.  Explanatory research

4, Doctrinal research
Options:
C4s32E0104207. 1
646350104308, 2
452501042309 =
CAE3E0104210 4

Question Number : 93 Question Id : 64635026576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350104307 1
E4E350104208 2
645350104209 5
645350104210 4

Question Number : 94 Question Id : 64635026577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

A system of cniminal justice which focusses on the rehabilitation of offenders through

reconciliation with vietims and the community at large 1s known as—

1.  Restorative justice
2. Dastributive justice
3.  Retributive justice

4. Social justice
Options:
646350104311, 1
646350104312, 2
646350104313, 3
646350104314, 4

Question Number : 94 Question Id : 64635026577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350104211, 1
6453501042312 2
645350104313 =
645350104214 4

Question Number : 95 Question Id : 64635026578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

The programme and services organised for the rehabilitation of inmates released from

correctional institutions 1s known as

1.  Probation
2. After-care
3. Parole

4.  Bail

Options:

648350104215 1
45350104218 2
645350104217 5
645350104218 4

Question Number : 95 Question Id : 64635026578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350104315 1
6453501043216 2
648350104217 2
645350104213 4

Question Number : 96 Question Id : 64635026579 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For which category of children is an observation home meant?
1.  Runaway children
2. Orphaned children
3. Children in conflict with law

4. Rescued bonded labour

Options:

645350104219 1
645350104320 2
645350104321 =
48350104222 4

Question Number : 96 Question Id : 64635026579 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350104519, 1

EAEZ501042320. 2
E4E3501042321. =
EAE350104322. 4

Question Number : 97 Question Id : 64635026580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s NOT the type of services in which the professionals get

engaged in victims, assistance?

1.  Support during investigation process
2. Support during criminal proceedings
3.  Offender-victim mediation

4. Victim precipitation
Options:
646350104323 1
646350104324, 2

645350104325 2
645350104326, 4

Question Number : 97 Question Id : 64635026580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E350104523 1

E4EZ50104324, 2
EAE3501042325. =
EAE350104326. 4

Question Number : 98 Question Id : 64635026581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Among the following, who has formulated the concept of “altruistic suicide’?
1.  Sutherland
2. Durkheim
3.  Burgess and Locke

4. Lombroso

Options:

645350104227 1
645350104328 2
645350104329 =
645350104330 4

Question Number : 98 Question Id : 64635026581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350104527, 1
645350104328 2
645350104329
645350104330 4

Question Number : 99 Question Id : 64635026582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

List-I List—II
(a) Legislative system (1)  Public prosecutors
(b) Correctional system (11) Police, CBI
(¢) Investigative system (111) Prison, Open prison
(d) Prosecution system (1v) Making laws

Choose the correct option from those given below :
1. (a)-Q); (b)-v); (e)-(u); (d)~(1n)
2. (a)-); (B-); (e)-(u); (d-1v)
3. (a)-v); (b)-(m); (e)-i); (d)—~1)
4. (@-av); (0)-1); ()-qin); (d)-(i1)
Options:
646350104331, 1

E4E250104332 2
E4E8250104252. 3



EAE350104334. 4

Question Number : 99 Question Id : 64635026582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 B -1 & g AR
-1 -1

(a) faumdt yomedt (i) o Haes
(b) RIS TUTT (i) yfery, didtems
(c) g FoTeit (iii) PRAR, Gd@ PRATR
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1. (a)-); (B)iv); (c)-1); (d)-iii)
(a)—(1); (b)—11); (¢)—~(u1); (d)-(v)
(a)-(v); (b)—(11); (c)—(1); (d)—1)
(a)-(1v); (b)—(1); (e)ii); (d)i1)

g Db

Options:
4532501043211

E4AEZ50104332. 2
E4E350104333. =
645350104334 4

Question Number : 100 Question 1d : 64635026583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Among the following, which term has been used by William Sheldon while specifying

crirminal types?
1.  Psychopath
2. Sadist
3.  Ectomorph
4. Idiot
Options:

E4E350104335. 1



EAEZ50104336. 2
645350104337, =
645350104335, 4

Question Number : 100 Question 1d : 64635026583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350104225 1
645350104336 2
645350104337 =
645350104338 4

Question Number : 101 Question 1d : 64635026584 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Among the following softwares which one 1s good for data analysis?

1. MS PowerPoint
2. Tally
3.  Adobe Reader

4.  MS Excel

Options:

645350104339 1
648350104240 2
45350104241 =
645350104242 4

Question Number : 101 Question Id : 64635026584 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350104229 1
45350104240 2
645350104241 5
645350104242 4

Question Number : 102 Question Id : 64635026585 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Among the following, which country has the provision of “plea bargaiming” in court
trials?

—

Japan
2. New Zealand
3 France

4, Unted States of America
Options:
422350104242, 1
64653501 04=44 2
646350104545 =
6453501 04=46 4

Question Number : 102 Question 1d : 64635026585 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350104242 1
45350104244 2
645350104245 5
645350104346 4

Question Number : 103 Question Id : 64635026586 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who 1s competent to commute death penalty to life imprisonment?
1.  Director General of Police
2. Director General of Prisons
3.  Chief Minster

4. (Governor

Options:

645350104347 1
648350104248 2
45350104249 =
645350104250, 4

Question Number : 103 Question Id : 64635026586 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350104347 1
648350104248 2
45350104249 =
645350104250, 4

Question Number : 104 Question Id : 64635026587 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Juvenile Justice Act, 2015, under Section 107(2) provides that Special Juvenile
Police Unit should be headed by a police officer not below the rank of a—

1. Police Inspector

g

Deputy Superintendent of Police

3.  Superintendent of Police

-

Deputy Inspector General of Police

Options:
645350104551, 1

E4EZ50104352. 2
E4E350104352. =
645350104354 4

Question Number : 104 Question 1d : 64635026587 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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1. yiew Ades
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Options:

645350104351, 1
645350104352 2
645350104353 =
645350104354 4



Question Number : 105 Question Id : 64635026588 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

List-I List—II
(a) Tokyo Rules (1)  Delinqueney prevention
(b) Rivadh Guidelines (1)  Juvemle justice admimstration
(¢) Mandela Rules (1)  Non-custodial measures
(d) Beijing Rules (iv)  Treatment of offenders

Choose the correct option from those given below :
1. (a)-); (b-(uw); (c){(u); (d-1v)
2. (a)-Q); (b)-u); ()-(m); (d)-Qv)
3. (a)-(v); (b)-(u); (c)-(u); (d)—1)
4. (a)y-(); (b)-1); (e)v); (d)~H1)

Options:

645350104355 1
645350104256, 2
645350104357 5
645350104358 4

Question Number : 105 Question Id : 64635026588 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. (a-@); (B)-); (e)-w); (d-av)
2. (@-); (b)—); (e)—(iii); (d)—(v)
3. (a)-(v); (0)-(u); (o)-(); (1)
4. (a)-@); (b)-1); (e)—v); (d)-1)

Options:

645350104355 1
645350104356 2
645350104357 =2
E4E350104358 4

Question Number : 106 Question Id : 64635026589 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : The concept of sin emanates from religion, whereas cnime 1s a legal

proposition.

Reason (R) : Sin results in violation of rules of religion or morality, while crime

involves breach of law.

Choose the appropriate option from the following :

o=y

(A)1s correct, but (R) 1s wrong

2. (A)is wrong, but (R) 1s correct

E-‘"‘

Both (A) and (R) are correct

=

Both (A) and (R) are wrong

Options:

E45350104259 1
645350104360 2
645350104361 =
645350104362 4

Question Number : 106 Question 1d : 64635026589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
645350104259 1
645350104360 2



E4E350104361. =
645350104362, 4

Question Number : 107 Question Id : 64635026590 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following laws directly involves crime victims in the adjudication of
criminal cases?

1.  Indian Penal Code
2. Domestic (Prevention of) Violence Act
3. Indian Evidence Act

4. Code of Criminal Procedure

Options:

645350104363 1
645350104364 2
645350104365 =2
E4E350104366. 4

Question Number : 107 Question Id : 64635026590 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350104262 1
645350104364 2
645350104365 =
483501043266 4

Question Number : 108 Question Id : 64635026591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is correct step in preparing data for analysis?
(a) Tabulation
(b) Using percentages
(¢c) Editing of coding
(dy Classification
Choose the correct option from the following :
. (d),(e), (b) and (a)
2. (c),(d),(a) and (b)
3. (b),(a),(c)and (d)
4. (a), (b), (d) and (¢)

Options:

48350104367 1
45350104268 2
645350104269 5
645350104370 4

Question Number : 108 Question Id : 64635026591 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fofeea d 9 siies! @1 Ay 8g 9aR &3 & U8 981 Terma s g?

(a) IRUET

(by  wia=rdl &1 ITaT ST

(¢) TN 3R Headg H]

(d) T

FofaiEd | 9 98! [Ae e &1 997 S -

(d), (), (b) 3R (a)

[E—

2. (c), (d), (a) ¥R (b)

3. (b), (), (c) ¥R (d)

4. (a), (b),(d) 3R (c)

Options:



E4E350104367. 1
645350104368, 2
645350104365, =
645350104270 4

Question Number : 109 Question Id : 64635026592 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The term where a judge refrains from hearing a case because he was associated with one
of the parties earlier is called—

& rescue
2 caveat
3. recuse

4. amicus curiae

Options:

645350104371 1
48350104372 2
45350104272 =2
645350104274 4

Question Number : 109 Question Id : 64635026592 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

old @ T gd H st U UgaR & 9 96E T @ SR HHd &1 a9 T4 S
o &Y Al 8, dl 39 forw Sudi fosar &9 arel Teg @ -

L

2. e
3. faege
4. UiHeg gl

Options:

645350104371 1
645350104372 2
645350104373 =2
E4E350104274 4

Question Number : 110 Question Id : 64635026593 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A research that has been carried out on a legal proposition or propositions by way of
analysing the existing statutory positions and cases by applying the reasoning power is
known as

—

descniptive research
2. explanatory research
3.  doctrinal research

4.  expenmental research

Options:

645350104275 1
645350104376 2
645350104377 =
645350104378 4

Question Number : 110 Question Id : 64635026593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350104375 1
48350104376 2
45350104277 2
645350104278 4

Question Number : 111 Question Id : 64635026594 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



List-I List-I1

(a) Court of Chief Judicial Magistrate (1)  Any sentence authorised by law
and Chief Metropolitan Magistrate

(b) Court of Magistrate of the First (1) Imprisonment up to 1 year, fine up

Class and Metropolitan Magistrate to ¥ 5000
(¢) Court of the Magistrate of the (i11) Imprisonment up to 3 years, fine up
Second Class to ¥ 10,000
(d) Court of Session Judge (1v)  Impnsonment up to 7 vears, fine
without limit

(v)  Alternative  dispute  resolution
mechanism

Choose the correct option from those given below :

L. (a)-Qv); (b)~(u); (c)~(1); (D)
2. (a)-); (D-); (e)~ui); (d)-av)
3. (a)y-(u); (b)—1); (0)-v); (d)-(1m)
4. (a)-(u); (b)={v); (¢)~(v); (d)-(1)

Options:

645350104373 1

645350104380 2

645350104281, 5
E4E3501043582. 4

Question Number : 111 Question Id : 64635026594 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a1 &1 gEi-11 9 gafed Sifen :

Tei-1 a1
(a) T T ARRGT 3R g @  fafy grmiiea B o

Heuifere HiSRgT &1 grEed
(b) A IR AR R ASIferes (i) 1 99 9% HRIEN, 5000/- 30 dF
afoRe e &1 THAEd JaA

(c) fad st vt &1 e (i) 3 99 g% HREN, 10,000/- TIL

(d) T I 1 aEEd (iv) 739 q% HRIEAN, JAF DI BB
e et
(v) doicue Rare gy aF

= feU U A °# 9 Ot IR BT 999 S :

L. (@)-(v); (b)-(iii); (e)-(ib); (A1)

2. (a)-@); (W)ii); (e)iii); (d)-Gv)

3. (a)-(i); (b)H1); (e)Hav); (d)iii)

4. (@), (b)-1v); (e)~(v); (d)—Gi)

Options:

48350104279 1
6453501042580, 2
645350104281, 5
645350104382 4

Question Number : 112 Question Id : 64635026595 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



List-I List-II

(a) Double jeopardy (1) A pnisoner should be assigned work
with job satisfaction

(b) Solitary confinement (1)  The correctional treatment rather
than a pumtive

(¢) Therapeutic outlook (1) No person shall be punished/

prosecuted for the same offence
more than once

(d) Assigmng congemal work (1v)  Inmates shall be kept in separate
single cell with little or no contact
with other inmates

Choose the correct option from those given below :
L (@)-Gu); (b)-v); (c)-); (d)—1)
2. (a)-(); (b)1i); (e)—{ui); (d)-(v)
3. (a-v); (b)-Gu); (0)—1); (d)-(in)
4. (a)-(); (b)-); (), (d)-(im)

Options:

645350104553 1
645350104284 2
645350104385 =
6453501043586, 4

Question Number : 112 Question 1d : 64635026595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



a1 &1 g4bl-11 | gafera sifon :

a1 a1

(a) S9dsamgs! 1) €3 I oE B IO o 9t e e
39 9gf i

(b) Hiferedt HwIgHe (i) <STHS DI T GURTHS TaER
(¢) WIRRs m3ecags (i) fdt i =afeq @1 w & oy & Ut 9

3ffi® IR <fed /ey T8t fasan smam
(d) cEmEFTHIETgAaTs  (iv) Sid:aTedl B e Ve g § 1@ S 2N
SIP1 3T Sfq-aTal & 9 §gd HH IU5
BT a1 fepa 9 et g
= U U Aeeu 7 9 98 IR &1 I Do

L. (a)-Qu); (b)-av); (¢)-(1); (1)
2. ()-); (b)-); (o)ui); (d)-(v)
3. (@)-v); (b)), (c)-(); (d)-)
4. (a)-(i); (b)-); (&)iv); (d)iil)

Options:

645350104383 1
6453501043584 2
6483501043285 =
45350104256 4

Question Number : 113 Question Id : 64635026596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which child night(s) has/have been specified in the UN Convention on the Rights of the
Chuld?

1.  Right to survival and protection
2. Right to development
3.  Raght to participation

4.  All of the above

Options:

645350104287, 1
645350104388 2
6453501043589 =
645350104390 4

Question Number : 113 Question 1d : 64635026596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

19 SR TR Tged TP FAT A B A/ a0 e [{ERE /e mm 222
1. IRl 3R SR&0 &1 Sfier

2. Ao aiteR
3. HeHIiE &1 s
4. Iuged 94t

Options:

645350104387 1
648350104288 2
453501042589 =
645350104290, 4

Question Number : 114 Question Id : 64635026597 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In Rudal Sah vs. State of Bihar (1983) 4 SCC 141, Supreme Court of India granted
compensation to the victim for

Custodial death

e

2. Illegal detention
3.  Non-registration of FIR

4, Custodial torture

Options:

645350104291, 1
645350104392 2
645350104393 =
645350104294 4

Question Number : 114 Question 1d : 64635026597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ToId TME T9TH ISR TS (1983) 4 THHNET 141, & AFd H URE & =90 TTed = 9
fore &fogfd wem @t

. ofiRerd gy
2. 3y =y
3. UHIABIR GOl T B

4. SfRemd gra=

Options:

645350104391 1
645350104392 2
648350104292 =
45350104294 4

Question Number : 115 Question Id : 64635026598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following, explains crnime through statistical and cartographic
technmques?

1.  Albert Bandura
2. William H. Sheldon
3.  Adolphe Quetelet

4. Earnest Hooton

Options:

645350104395 1
648350104296 2
645350104297 5
645350104298 4

Question Number : 115 Question Id : 64635026598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frofefad § 9 e sy ot earen giferer 3R aFEta wiafdal & mrem 3 &t 22

1. 3fese gl

2. fafemH wa. Qe
3. UGSl sene

4. ITLER

Options:
645350104595 1

E4EZ501043396, 2
E4E350104297. =
6453501043958, 4

Question Number : 116 Question Id : 64635026599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Mala in se means
1. Ewil in themselves
2. Ewil because they are prohibited
3.  Ewil because they are not mentioned in public law

4. Ewil because they are not mentioned in human rights law



Options:

645350104399 1
648350104400 2
45350104401, =
645350104402, 4

Question Number : 116 Question Id : 64635026599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HATST Y DT AAT :

1. W@ ey

2. vyl i 3 FAivg @

3. gyl Fife @ A # 3@ sw T 8

4. T i ArEieR [Aftat & 3T swe T8 §

Options:
645350104599, 1

E4E350104400, 2
E45350104401. =
EAE350104402. 4

Question Number : 117 Question Id : 64635026600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which theory argued that most effective way to prevent crime victimization was not to
focus on crime’s root cause but on situational factors that might be mampulated so as to
make offending more difficult?

1.  Routine activity
2. Situational crime prevention
3.  Power control

4. Restorative justice

Options:
453250104402 1

EAE350104404, 2
E45350104405. =
645350104406, 4

Question Number : 117 Question 1d : 64635026600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



forg figid @1 98 a6 ¢ & ARy Iaie o Ao &1 I99 THTE IU™ ORI} & Hayd
SR R 78l gfees 37 RIRUTRIST Rl 1 o= Hf<d He1 & BEH 80-1d 31 o It
g, dIfes 3Oy ST SR i g Sme?

1. fofta o
2. uRiRufeer oy fFamor
3. vieg o

4.  YdEd 99

Options:

6483501044032 1
45350104404 2
645350104405 5
645350104406, 4

Question Number : 118 Question Id : 64635026601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which theory in criminology suggests that the cause of female cniminality is their
exclusion, and thus marginalisation within the economy?

E, Feminist
2. Labelling
3. Radical

4. Roufine activity

Options:

645350104407 1
645350104408 2
645350104409 =
648350104410 4



Question Number : 118 Question Id : 64635026601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e ® ¥ SOUyRTe @1 B o1 Rigid 98 7T ¢ & A suRiiysd &1 SR
SrferaRyT ¥ 391 3Ude 3N 39% Beaey 3] AHdeI 2?

| B 4 1 A
2. ddfeT
3. Yewa

4.  Tofvg aean

Options:

645350104407 1
645350104408 2
648350104409 =
45350104410 4

Question Number : 119 Question Id : 64635026602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



List—] List-11I

(a) Conviction (1)  Release from custody
(b) FIR (1)  Compromisable

(¢) Compoundable (1) Complaint

(d) Bail (iv) Establishment of guilt

Choose the correct option from those given below :
1. (a)-(v); (b)—(ui); (c)-(i); (D))
2. (a)-(i); (W-it); (e)—1v); (D)D)
3. (a)-@); (B)-); ()~ud); (d—1v)
4. (a-(u); (b)-v); ()—1); (d)1)

Options:

645350104411 1
645350104412 2
645350104413 =
45350104414 4

Question Number : 119 Question Id : 64635026602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 1 g1 § gafed Sifo :
a1 a1

(a) @ fAfg (i) ofRend fers

(b) UBITRIR (i) G & drg

(¢) HUIvesd (i) PRrema

(d) A=A (iv) 3R ot Rifg
=12 feu U f9 g § O 98 IR &1 99 Sifee

L. (a)-(v); (b)-(i); (c)-(w); (D—1)
2. (a)-(); (b)—i); ()-Gv); (D)D)
3. (a-); (b-w); (c)-(u1); (d)-(v)

4. (a)-Qu); (b)-(v); (c)-(); (d)-1)

Options:

648350104411 1
45350104412 2
645350104412
645350104414 4

Question Number : 120 Question Id : 64635026603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which authority/authorities has/have an obligation to monitor the implementation of
POCSO Act under Section 447

1. The National Commission for Protection of Child Rights and State
Commission for Protection of Child Rights

2. Woman and Child Development Department
3. National and State Human Rights Commission

4.  National and State Commission for Women



Options:

645350104415 1
648350104416 2
45350104417 =2
645350104418 4

Question Number : 120 Question Id : 64635026603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

¢RT 44 & 3fcrid ‘s oR1el 3 Srees! &1 SR a3 sriags &) e @ gifle
g mitreTo &1 22

1. S ST SfGR TR0 ST SR IS ST SHfUBR SRET SRR
2. Wige wd 919 e faHm

3. P SR T AFANABR SR

4. TSI IR TS Higan 3w

Options:

645350104415 1
645350104416, 2
645350104417 =
645350104418 4

Question Number : 121 Question 1d : 64635026604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A research conducted on a problem that has not been studied more clearly, intended to
establish priorities, develop operational definitions and improve the final research design
is known as—

1.  Doctrinal research
2. Analytical research
3.  Exploratory research

4.  Experimental research

Options:

645350104419 1
645350104420 2
648350104421 =
45350104422 4

Question Number : 121 Question Id : 64635026604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

fet Ot T, raeT oiffe Wy 0 @ ey =8 o man 8, W & mar iy, e
Ie=g mufiean Fefa o3, Sfsarere ofturent 3aR ST 3R ofdm Sty sfiee §gur
BT T, T B &7

. Sgife Y

2. fAcwuTers Ty
3. JAuUTHS Y
4. UANES Y

Options:

648350104419 1
45350104420 2
645350104421 5
645350104422 4

Question Number : 122 Question Id : 64635026605 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Providing an opportunity for the prison inmate to leave the prison to visit the family is
called

1. Probation
2 Parole
3. After care

4, Classification

Options:

648350104422 1
645350104424 2
645350104425 5
645350104426 4

Question Number : 122 Question Id : 64635026605 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



HREN a4 I 3= TRaR § e & ol SREN Sie &1 3G9 U &1 3l
HEAN 87

1. Oidter
2. W

3. QOe-TEur

4.  affer

Options:

648350104422 1
45350104424 2
645350104425 5
645350104426 4

Question Number : 123 Question Id : 64635026606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The classification of prisoners 1s a statutory requirement under the
1.  Transter of Prisoners Act, 1950
2. Prisons Act, 1894
3. Prisoners (Attendance in Courts) Act, 1955

4.  Prisoners Act, 1900

Options:

645350104427 1
645350104428 2
645350104429 =
645350104430 4

Question Number : 123 Question 1d : 64635026606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HRIAN dfedl o1 Frifevo Fofafed § | s agd te Sififite smaaearg?
1. 931 3faeor ffef=gm, 1950
2.  SRMEN AUFTH, 1894
3. w3l (Tl § Iuiefa) Sifti=a|, 1955
4. «q fafE, 1900

Options:
645350104427, 1

EAEZ50104425, 2
E4E350104429 =
645350104430 4

Question Number : 124 Question Id : 64635026607 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The reason to establish a separate juvenile justice system arose, because of—

(a) Best interest of the child to be protected
(b) The principle of segregation of children from adults
(¢) The philosophy of retribution
(d) The principle of Parens Patriae
Select the most appropriate code :
1. (a), (b) and (¢) are correct
2. (b), (¢) and (d) are correct
3. (a), (b)and (d) are correct

4. (b) and (¢) are correct



Options:

645350104431 1
648350104432 2
45350104422 =
645350104424 4

Question Number : 124 Question Id : 64635026607 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TS STe =1 JUTTel! 1 RIGT 1 HET I3 H1 31 SR Y12
(a)  EREUUCH U THare 8= &1 gaiod iR
(b) TO%! W 96! &I AT B B gid
() W=y &1 e+
(d) T URu s REa
frafafed d 9 w8 ST difon :

L (a), (b) ¥R () FAE

2. (b),(c) (D) TAT

3. (2),0)SR@EHE

4. (b) ¥R () W T

Options:

645350104431 1
645350104432 2
648350104422 =
645350104424 4

Question Number : 125 Question Id : 64635026608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



List-1 List-1I

(a) Nonparticipating vicims (1) The cnime hike Sati, Devdasi, Prostitution
and Cyber crimes

(b) Latent victims (1) Victims of dowry death who are provided
by the offender to commit suicide

(¢) Provocative vichms (1) Those who have fallen a pray to crime but
do not know that are in any way affected
thereby

(d) Participating victims (iv) Those who are completely innocent

Choose the correct option from those given below :
1. (a)-v); (b)-(u1); (c)-G1); (D)
2. (&) ()-i); (o)-1n); (d)-av)
3. (a)y-(u); (B)-Gv); (e)-1); ()i
4. (a)y-); (D)H1); (0)-Qv); (d)-(1m)

Options:
422350104435 1

EAE350104436, 2
645350104437, =
645350104435 4

Question Number : 125 Question 1d : 64635026608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 1 gEl-11 I gHerd Bifor :

A1 a1
(@) R-FEuritdifega () St Saor IWEhy ok ARy SR S Soy

(b) T difsa (i) 8o g Wifga forg smomush g1 sievgen & fom
HolgR [ a1 Sl 8

(¢) SooEe Uifed (i) o 3Ry & RIeR 8 & 1 395! 98 HigH el &
%am;rlrrﬁa;é - e

(d) SEHrT dfsa (v) of gufq: Fefe &

4= fou U e H# 9 OE) S5 &1 999 S
1. (a)-Qv); (b)-(u1); (¢)-(1); (D))
2. (a)-(); (B)-Q1); (©)-(i); (d)—-{v)
3. (ay-(u); (b)-(v); (c)-(); (A1)
4. (a)-i); (b)-(); (©—(v); (d)-()

Options:

645350104435 1
648350104438 2
645350104427 5
645350104428 4

Question Number : 126 Question Id : 64635026609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
‘A group of persons with a facade of office but dealing with crimes in the background,
generally transnational in character assisted by a legal team’ refers to—

1.  Personal crime
2 Street crime

3.  Cnme syndicate
4 Property crime

Options:
645350104439 1
648350104440 2

E4E8250104441. =5



EAEZ5010444% 4

Question Number : 126 Question Id : 64635026609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"Sfedl BT 9Hg ol B9 Haad St YR H ST IaRSGR CHH B Fgrdl 9 JHIadl
TR Tl & SR BT T Sl & B A ©

1. oG SORTY
2. ERBEA

3. wreH RifSee
4. Hufxy SoRry

Options:

645350104439 1
645350104440 2
648350104441 =
45350104442 4

Question Number : 127 Question Id : 64635026610 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Shaw and McKay believed that the inner city called the ‘zone of
transition’, examined societal disorganization or breakdown in social
institutions.

Reason (R) : They believed crime was high in disorgamzed neighbourhoods because
of “lack of control’ and presence of criminal values.
Choose the appropriate option from the following :
1. Both (A)and (R) are true
Both (A) and (R) are false
(A)1s true, but (R) 1s false
(A) s false, but (R) 1s true

2w

Options:

645350104443 1
645350104444 2
645350104445 =
45350104448 4

Question Number : 127 Question Id : 64635026610 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



IMBUT(A)  : T 3R AP P gl ff & ‘Iaw & AHe AR T gHIoe

Tyrel § g Rve a1 ge @i g S |
% (R) Tt A i & o et SHY iR TS gedl @t faemEar
& SR fqufed us & ey 3rfies ot |
= feu Mo fawer A 9 98 SR ST IaE @
1. (A)3R®R) T I
2. (A) 3R (R) eI Ted g
3. (A)wEe FgR) @A
4, (A) T, g R) T8 B

Options:
E4E2235010444= 1

EAE3501044444 2
645350104445 =
645350104446, 4

Question Number : 128 Question 1d : 64635026611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Chifford Shaw and Henry McKay’s conceptualization of social disorganization was
influenced by—

1.  Heredity perspective
2. Psycho-analytical perspective
3.  Biological perspective
4.  Ecological perspective
Options:
646350104447, 1
646350104448, 2

E4E350104445 =
EAE350104450. 4

Question Number : 128 Question Id : 64635026611 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



famie 27 SR 878 1% 1 9mifie faucs &t S s vyifdg 4
1. e oiweg
2. FEIARESUTeS Oy
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Options:

645350104447 1
645350104448 2
648350104449 =
645350104450, 4

Question Number : 129 Question Id : 64635026612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Primary evidence means
1. Copies made from or compared with the original
2. The document itself produced for the inspection of court

3. Oral accounts of the contents of a document given by the same person who
has himself seen 1t

4, All of the above

Options:

645350104451 1
645350104452 2
645350104453 =
648350104454 4

Question Number : 129 Question 1d : 64635026612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350104451 1
648350104452 2
45350104452 =
645350104454 4

Question Number : 130 Question Id : 64635026613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

From among the following, who would be criminally responsible or culpable?
1. Truck dniver runmng over a pedestrian
2. House-owner hurting a trespasser
3.  Engine drniver runmng over a person on rallway truck

4. Executor hanging a convict

Options:

645350104455 1
645350104456 2
648350104457 =
645350104453 4

Question Number : 130 Question Id : 64635026613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FrofafEd # @ $19 emoufis Tu 3 fowier €7
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Options:

648350104455 1
45350104458 2
645350104457 5
645350104458 4

Question Number : 131 Question Id : 64635026614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which statistical test among the following shows central tendency in a statistical series?

]

Regression
2.  Geometric mean
3.  Factor analysis

4. Chi-square

Options:
645350104459, 1

E4E350104460. 2
E4E350104461. =
EAE350104462, 4

Question Number : 131 Question Id : 64635026614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. UdgEs
2. imfag |
3. PR fawewn
4. BRI

Options:

645350104459 1
645350104460 2
645350104461 =
645350104462 4

Question Number : 132 Question 1d : 64635026615 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one among the following is NOT correct?

1. Jeremy Bentham ; Rationale of Punishment

2. (Cesare Beccana : Essay on Crime and Punishment
3. Howard W.F. : Punishment and Reformation

4. Enrico Fern : Crime and the Community

Options:



E4E350104463. 1
6453501044684 2
645350104465, =
645350104466, 4

Question Number : 132 Question Id : 64635026615 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FoftfRadd s g e get 7di 27

1. SRS - YIEd e ufawe
2. ISR IS : U 315 HIH US TS
3. gars S, U : UiRTHe 1S R

4.  TERDIBA : PI3HUS § HHHC

Options:

645350104463 1
648350104464 2
45350104465 =
645350104466, 4

Question Number : 133 Question Id : 64635026616 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is NOT a form of institutional correction?
1. Admonition
2. Rigorous imprisonment
3.  Life imprisonment

4.  Simple imprisonment

Options:

645350104467 1
645350104468 2
648350104469 =
645350104470, 4

Question Number : 133 Question Id : 64635026616 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fofeiea 8 @ oF 91 See guUR &1 59 g 82
I &
2. YU HRE™
3. Sella SREM

4. HIYRU HRIENE

Options:
645250104467, 1

E4E3501044688. 2
E4E350104469. =
EAEZ50104470. 4

Question Number : 134 Question Id : 64635026617 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following does NOT come under the category of children in conflict
with law?

1.  Child who has committed theft

b2

Child who has committed robbery
3.  Child with terrmnally 11l parents

4. Child who has committed murder

Options:

645350104471 1
648350104472 2
45350104472 =2
645350104474 4

Question Number : 134 Question Id : 64635026617 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frofafea # & B9 @ i Juika o @t 40 # 78 o &2
1. safaadae
2. AU ST
3. S foraes Aral-fiar srer I 9 difsa §
4. ST

Options:

648350104471 1
645350104472 2
645350104472 5
645350104474 4

Question Number : 135 Question Id : 64635026618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following is a manifestation of psychological impact of crime
victimization?

1. Happiness
2. Nightmare
3. Calmness

4. Sound sleep
Options:
646350104475, 1
646350104476, 2
646350104477, 3
646350104478, 4

Question Number : 135 Question Id : 64635026618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFofefag # 9 &9 1 ey IafisT & AR THIE ST Uhlai g7

1. v
2. @w@W
3. wifd
4. Tl Al

Options:
645350104475 1

EAE350104476, 2
EAE350104477. =
EAE350104475. 4

Question Number : 136 Question Id : 64635026619 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one among the following 1s NOT the main objective of establishing open prisons?
1.  To reduce overcrowding 1n jail
2. Toreward good behaviour
3.  Toexamine the suitability of releasing offenders from prisons

4. Toundergo rigorous imprisonment

Options:

648350104479 1
45350104420 2
645350104481, 5
645350104482 4

Question Number : 136 Question Id : 64635026619 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

iR d 9 &4 91 0% Gdl odl @1 91 &1 5 35 T8 67
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Options:

645350104473, 1
645350104480, 2
645350104451, 5
EAEZ50104452, 4

Question Number : 137 Question Id : 64635026620 Question Type: MCQ Option Shuffling : No Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a)
(b)
©
(d)

List-I
Tolerance (1)
Release (11)
Withdrawal symptom (111)

Detoxification (iv)

List-II
Body pain, sleeplessness
Removal of poisonous substances

Increased dosage

Starting the usage of drugs

Choose the correct option from those given below :

L.

2

B,

4.

Options:

()-(1v); (b)-(u1); (¢)-(u1); (d)~1)
(a)-(u1); (b)-(v); (¢)-(1); (d)H11)
(a)-(1); (b)—(u); (c)-(u1); (d)-Gv)
(a)-(1); (b)-(1); ()—(v); (d)-i1)

E4EZ50104453. 1
EAE3501044584 2
6453501044585, =
645350104456, 4

Yes

Question Number : 137 Question 1d : 64635026620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 B 11 & g S

a1 -1
(a) FEaar (i) IRR TG A=

(b) YRmEdA (i) fOSd verdl &1 gem
(0) fafraei @ (i) w1 gs gD

(d) e (iv) 3Nwid &1 van = H
== feu MU Ree A ° 98 T &1 997 S |

L (a)y-Qv); (b)-(u); (c)-(); (d)-1)
2. (a-(m);, (0)-Qv); (c)-); (d)-w)
3. (a-); (b)-m); ()(u1); (d)-Gv)
4. (a)y-(u); (b)H1); ()—1v); (d)-(in)

Options:

6453501044582 1
645350104454 2
645350104485 =
648350104456 4

Question Number : 138 Question 1d : 64635026621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Denial of service” 1s a form of
1. Hate crime
2.  Traditional crime
3.  Environmental crime

4.  Cyber cnime
Options:
646350104487 1
646350104488 2
646350104489 3
645350104480 4



Question Number : 138 Question Id : 64635026621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
JIq9 UH TR &1 :
1. OISR 3ORTY &
2. TTAERETE O §
3. TOERu ORIy 8

4. TS U T

Options:

645350104457 1
6453501044588 2
45350104459 =
45350104430, 4

Question Number : 139 Question Id : 64635026622 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The book entitled Delingiient Boys : The Culture of the Gang was authored by—
1. Albert Cohen
2.  Robert Merton
3.  Richard Cloward

4.  E. H. Sutherland
Options:
645350104431 1
645350104432 2
645350104493 =
645350104494 4

Question Number : 139 Question Id : 64635026622 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



'S 109 : 'S e A1 & 1" 71 Teie foa- fodt 4
1. 3 BigA
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3. =S wEs
4. 3 79 9eds

Options:

645350104491 1
645350104432 2
645350104433 =
648350104494 4

Question Number : 140 Question Id : 64635026623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) :  Generally any confession made by an accused person to a police officer
15 not admissible under Section 25 of the Indian Evidence Act.

Reason (R) : But if some article is recovered at the indication of the accused, this
recovery would be admissible under Section 27 of the Evidence Act.

Choose the appropriate option from the following :

i
.

(A)1s correct, but (R) is wrong
2. (A)is wrong, but (R) is correct
3. Both(A)and (R) are correct

4. Both (A) and (R) are wrong
Options:
646350104495, 1
646350104498, 2
646350104497, 3
646350104493, 4

Question Number : 140 Question 1d : 64635026623 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. (A)9Ee, g (R) Toa B
2. (A) TR g (R) W@ R
3. (A) 3R (R) G Tgl B
4. (A) 3R (R) & Ted Bl
Options:
EAEZEN104455 1
C4EZE01 04498 2

E4E350104437. =
6453501044395, 4

Question Number : 141 Question 1d : 64635026624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following in sequence as criminological research is conducted :
(a) analysing data

(by finding tools

(¢) wrting report

(dy collecting data

Choose from the following :

L. (d), (), (b), (a)
2. (b),(d), (), (c)
3. (d),®), () ()
4. (a), (b),(c), (d)

Options:
645350104499 1



EAE350104500. 2
645350104501, =
645350104502, 4

Question Number : 141 Question 1d : 64635026624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT 1 SRIURTRG T Y F B F61 HH § AT BT
(a) sl Bl Ay B
(b) fafeEi &1 sifew o9 =g
() R fera
(d) oo JTE B
frofeaa J 9 gi+e
L. (d), (). (b), (@)
2. (0).@. @, (@
3. (@.(0) ()@
4. (@), (b)), @

Options:

645350104499 1
645350104500, 2
E4E350104501. =2
645350104502, 4

Question Number : 142 Question Id : 64635026625 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Nelson Mandela Rules for the treatment of prisoners were earlier known as
1. UN Standard Minimum Rules for Non-custodial measures
2. UN Standard Minimum Rules for the Treatment of Prisoners
3.  UN Standard Minimum Rules for the Admimstration of Juvenile Justice

4. UN Rules for the Protection of Juveniles Deprived of their Liberty

Options:
4223501045032, 1
645350104504 2



E4E350104505. =
645350104506, 4

Question Number : 142 Question Id : 64635026625 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SRR S & 1Y FEeR & oy 389 Hedl (RgAEdd &1 ugd &el Sl o
1. R-siftRevia UMl & forg §ged Y AFe Lrad Hamd
2.  SRER STl & I aeR & [T 9ged Y He ran g

3. 919 U S DN & Y §ged TPHS gaaH fAamTaet

4. AT A 3§ S STl & JRe0T o for ge Uy omraet
Options:
645350104503 1
645350104504 2

645350104505, =
E4E350104506, 4

Question Number : 143 Question Id : 64635026626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Following are the main focus of Beijing Rules :
(a) Probation, commumty service order
(b) Rehabilitation of juvenile
(¢) Care, guidance, supervision
(d) Pre-trial and post-trial detentions
Choose the most appropriate code :
1. (a), (b)and{d) are correct
2. (b)and (d) are correct
3. ({a), (b)and(c) are correct

4. (c¢)and (d) are correct

Options:
645350104507, 1



EAE350104508. 2
645350104509, =
645350104510 4

Question Number : 143 Question 1d : 64635026626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

S P &1 5o Bie B
(a)  ORdlE THEE 94T e
(b)  Sr@ YAy
(¢) @Y, Anfeef, wiaem
(@  FTaR-gd oIR GTaw- T FoRa!
SERISEECH o (i
1. (), (b) MR () T E
2. (b) IR(D)ITAE
3. (a), (b) 3R (0) WE B
4. (o) () wEE

Options:

645350104507 1
E4E350104508 2
E4E350104509 =2
645350104510, 4

Question Number : 144 Question Id : 64635026627 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“Fit facility” 1s/are recogmzed by which of the following agencies?
(a) Juvenile Justice Board
(b) Government
(¢) Child Welfare Committee
(d) Dustrict Judge
Choose the correct answer from the following :
1. (a)is correct
2. (c)is correct
3.  (b)iscorrect

4. (a)and (c) are correct

Options:
6422350104511, 1

E4E350104512. 2
645350104513 =
645350104514 4

Question Number : 144 Question 1d : 64635026627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b) AR
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(d)  foran g
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. (2)9de
2. (o wiE
3. (hWEER

4. (a) 3R (c) T &

Options:
6422350104511, 1

E4E350104512. 2
645350104513 =
645350104514 4

Question Number : 145 Question 1d : 64635026628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which country first introduced the scheme of compensation to crime victims from public
exchequer?
1. Canada
2. France

3. New Zealand

4. Umted Kingdom

Options:

648350104515 1
45350104518 2
645350104517 5
645350104518 4

Question Number : 145 Question Id : 64635026628 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. &30

2. W
3. goids
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Options:

645350104515 1
645350104516 2
645350104517 =2
48350104518 4

Sub-Section Number: 2
Sub-Section 1d: 6463501305
Question Shuffling Allowed : Yes

Question Id : 64635026629 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Society 1s characterized by diversity, conflict, coercion and change, rather than by consensus
and stability. Secondly, law is a result of the operation of interests, rather than an instrument
that functions outside of a particular interest. Though law may control interests, it 1s in the first
place created by interests. Third law incorporates the interests of specific persons and groups.
It 1s seldom the product of the whole society. Law 1s made by men representing special
interests, who have the power to translate their interests into public policy.

Sub questions

Question Number : 146 Question Id : 64635026630 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage, society 1s characterized by
1.  stability
2. equilibrium
3.  consensus

4, conflict

Options:
645350104519 1



EAEZ50104520. 2
645350104521, =
645350104522 4

Question Number : 147 Question 1d : 64635026631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Law, according to the passage, 1s a creation of

1. diversity
2. coercion
3. interested persons

4. whole society

Options:

645350104523 1
648350104524 2
45350104525 =2
645350104526 4

Question Number : 148 Question Id : 64635026632 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following word has a negative meaning?
1.  Diversity
2. Consensus
3.  Coercion

4. Stability

Options:

645350104527, 1
645350104528 2
645350104529 5
645350104530, 4

Question Number : 149 Question Id : 64635026633 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Ideally, law should function
i, operate interests
2. outside interests
3. coercive
4. diverse

Options:

645350104531 1
645350104532 2
648350104522 =
645350104524 4

Question Number : 150 Question Id : 64635026634 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Law should get reflected 1n

—
a

public policy
2.  special interests
3. power

4. cOercion

Options:

645350104535 1
645350104536 2
648350104527 =2
45350104528 4

Question Id : 64635026629 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension
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Sub questions



Question Number : 146 Question Id : 64635026630 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR & 2F9R, THS & W& &1 (A0 g gR1 el 87

1. UiAa g’

2. Hgoa Rl

3. 3 ggHld g’
4. TEEN

Options:

645350104519 1
648350104520 2
45350104521 =2
645350104522 4

Question Number : 147 Question Id : 64635026631 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR & 9R B (gt il &7
1. fafdear
2. yusd
3. fRaure safeqal

4. U SHS

Options:

645350104523 1
645350104524 2
648350104525 =
45350104526 4

Question Number : 148 Question Id : 64635026632 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g Tsg &1 9Tl THRTES &2

1. Tafaea

2. 3TH HeHk
3. ydisd

4. TRRa

Options:

645350104527 1
645350104528 2
6453501045293 2
648350104520 4

Question Number : 149 Question Id : 64635026633 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o2l T BR fod ©0 # S o amen?
1. fedi & SRemr
2. fafaw
3. UUS®
4. fafay
Options:

E4E350104521. 1
EAE350104532. 2
E45350104533. =
645350104534 4

Question Number : 150 Question Id : 64635026634 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

&1 forad welRfa g anfde?

1. doAflaH
2. famwfeaid
3. iedH
4. yueTH

Options:
645250104535, 1



EAE350104536. 2
645350104537, =
645350104535, 4



